Nine Questions from Chapters 9 and 11
	1. The value of a Lexus car depreciates at a rate of 13% per year. Noah originally bought a Lexus for $33,000. 

     a) Write an equation to represent the cost of the car after t years. 

     b) How much will the car be worth in 6 years?



	2. Find all the zeros by factoring:

    P(x) =
[image: image1.emf]6x° —18x% +12x
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	3. Factor completely:
     a) 
[image: image2.emf]25x% -81y’
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     b) 
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	Given: 
[image: image4.emf]f(x)=4x"-6x"+2x" -2
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 (seen at the right) 
4. What is the leading coefficient of f(x)? __________
5. How many zeros does the polynomial function f(x) have?
6. How many of its zeros are real numbers?
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7. How many of its zeros are non-real (complex) numbers?



	8. Are the following examples of exponential  

    growth, exponential decay or neither?
     a) 
[image: image5.emf]y=4(0.6)"
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     b) 
[image: image6.emf]y=.7(4)"
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	9. Is g(x) a monomial, binomial, trinomials, or 
    none of these?  
     
[image: image7.emf]g(x)=6x
—4x°
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ANSWERS
1. a) 
[image: image8.emf]y =33,000(0.87)'
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b) 
[image: image9.emf]y =33,000(0.87)° = $14,309.66
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2. Factored form: P(x) = 6x(x – 1)(x – 2) so the zeros are x = 0, x = 1, x = 2
3. a) (5x – 9y)(5x + 9y) 
         b) 4(p – 10)(p + 3)

4. 4

5. 5

6. 3

7. 2
8. a) exponential decay

b) exponential growth
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